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(ii) DIMENSION A(5),C(3)
DATA A/1.0,2.0,3.0,4.0,5.0/,C/0.1,0.2,0.3/
DATA X,Y/10 .0 ,20 .0/,1/2/
CALL TEST
CALL TEST1(A, C, X, Y)
WRITE(6, 130) A, C, X, Y

130 FORMAT(HO,10F5, 1)

CALL TESTZ2 (A(1),C(2),X, Y)
WRITE®, 130) A, C, X, Y
CALL TEST3 (A, C, X, Y)
WRITE(®6, 130) A, C, X, Y
WRITE(6, 133) 1



133 FORMAT(1HO, 10 HBEFORE I=,13)
CALL TEST4(I)
WRITE(®6, 132) 1
132 FORMAT(1HO, 3H I=, B48)
WRITE®6, 134) I
134 FORMAT(QHQO, 10 HAFTER 1=, 13)
STOP
END
SUBROUTINE TEST
DIMENSION AA(5),CC(3),E(1)
RETURN
ENTRY TESTI1 (AA, E, XX, YY)
WRITE(®6, 140) AA, E, XX, YY
140 FORMAT(1HO, 5HTEST1/1H ,5F5.1/1H ,3F5.1/1H ,2F5.1
RETURN
ENTRY TESTZ2 (AA, CC, XX, YY)
WRITE(®, 141) AA, CC, XX, YY
141 FORMAT(1HO, 5HTEST2/tH ,5F5.1/1H ,3F5.1/1H ,2F5.1)
DO 10 K=1,3
10 CC(K)=FLOAT(X)
RETURN
ENTRY TEST3 (AA, P, X, Y)
WRITE(®6, 142) AA, P, X, Y
142 FORMAT (1HO, 5HTEST3/1H ,5F5.1/1H ,3F5.1)
P==3.3
RETURN
ENTRY TEST4 (Q)
WRITE (6, 143) Q
143 FORMAT(1HO,5HTEST4/1H , 3H Q=,B48)
WRITE(®6, 144) Q
144 FORMAT(@QHO, 3H Q=,F5.1)
RETURN
END
TEST1
1,0 2.0 3.0 4.0 5.0 .1 10.0 20.0
1.0 2.0 3.0 4.0 5.0 .1 .2 .3 10.0 20.0

1.0 2.0 3.0 4.0 5.0 .2 .3 10.0 10.0 20.0
1.0 2.0 3.0 4.0 5.0 .1 1.0 2.0 3.0 20.0

1.0 2.0 3.0 4.0 5.0 .1 3.0 20.0
1.0 2.0 3.0 4.0 5.0 3.3 1.0 2.0 3.0 20.0



Giv)

BEFORE I=

TEST4

10

11

2

Q==000000000000000000000000000000000000000000000010
Q=.0
I =000000000000000000000000000000000000000000000010
AFTER I =
(iii) C #%%%k ACTUAL ARG-D, DUMMY ARG-S sk sk sk sk ok ok ok ok 5k ok sk ok
DOUBLLE PRECISION DARGI, DARGR2
DATA DARG1, DARG2/0.123456D0, 9.87654D0/
CALL DPOUBLE (DARG1, DARG2)

WRITE (6,1 0) DARG1, DARG2

FORMAT (1HO, 7H DOUBLE ,2D15.10)
STOP
END

SUBROUTINE DOUBLE (SARG1, SARG2)

WRITE®6,11)

SARG1, SARG2

FORMAT (1 HO, 7H SINGLE ,2E15.10)

RETURN

END
(H77)
SINGLE. 1234560000E+4+00.9876540000E+01
DOUBLE. 1234560000D+00.9876540000D+01

C
C

102

ACTUAL ARGUMENT VARIABLE
DUMMY ARUGMENT ARRAY

DATA A1, A2, A3, A4/11.0, 12.0,
DATA ICOUNT/0/
DEBUG 6, SUBTRACE

SUBTRACE

CALL PRCDR

CALL PRCDRI1 (A1, A2, A3, A4)

WRITE (6, 102)

Al, A2, A3, A4

FORMAT (1 HO, 4F10.2)
CALL PR CDR2 (A1, A2, 3, 0)

ICOUNT==1 COUNT+1
IF(ICOUNT. LE. 8)

STOP
END

GO TO 1



SUBROUTINE PRCDR
DIMENSIONX1(1)
ENTRY PRCDRI1 (X1, X2, X3, X4)
WRITE (6, LIST) X1, X2, X3, X4

DO 5

I=1,3

5 X1(I)=FLOAT(D)
RETURN
ENTRY PRCDR2 (Y1, Y2, Y3)

Y3 =Y3-+1.0

RETURN

END
**SUBTRACE BEFORE PRCDR
**SUBTRACE AFTER PRCDR
*#%*SUBTRACE BEFORE PRCDR1
*%SUBTRACE ARGO1=11.000000000
**kSUBTRACE ARGO2=12.000000000
*%SUBTRACE ARGO3==13.000000000
**SUBTRACE ARGO4 =14.000000000
11.00000000 12.00000000 13.00000000
**%SUBTRACE AFTER PRCDRI1
**%SUBTRACE ARGO1=1.0000000000
**SUBTRACE ARGO2 =2.0000000000
**SUBTRACE ARGO3=2.9999999999
**%SUBTRACE ARGO4=14.0000000000

1.00 2.00 3.00 14.00

#**«SUBTRACE BEFORE PRCDR2
#**%SUBTRACE ARGO1 =1.0000000000
*¥SUBTRACE ARGO2 =2.0000000000
** SUBTRACE ARGO38=2.9999999999
¥ SUBTRACE AFTER PRCDR2
#**kSUBTRACE ARGO1=1.0000000000
¥ SUBTRACE ARGO2=2.0000000000
#**SUBTRACE ARGO3 =4.0000000000
**SUBTRACE BEFORE PRCDR2
¥ SUBTRACE ARGO1=1.0000000000
#**%SUBTRACE ARGO2=2.0000000000
**SUBTRACE ARGO3 =4.0000000000
**SUBTRACE AFTER PRCDR2
¥**SUBTRACE ARGO1 =1.0000000000
**kSUBTRACE ARGO2=2.0000000000
**%SUBTRACE ARGO3=5.0000000000

:2600000000000004
:3000000000000004
:3200000000000004
:3400000000000004
14.00000000

12000000000000001
:2000000000000002
13000000000000002
:3400000000000004

:2000000000000001
:2000000000000002
:3000000000000002

:2000000000000001
:2000000000000002
:2000000000000003

:20000000000000001
:2000000000000002
:2000000000000003

:2000000000000001
12000000000000002
:2400000000000003



*%SUBTRACE
*x*SUBTRACE
*%kSUBTRACE
**%SUBTRACE
**%*SUBTRACE
*%SUBTRACE
**k%*SUBTRACE
**%SUBTRACE
**%*SUBTRACE
*kxSUBTRACE
#**%*SUBTRACE
*% SUBTRACE
*x%*SUBTRACE
*%*SUBTRACE
*kSUBTRACE
*kSUBTRACE

ISN

(v) 0001
0002
0003
0004
0005
0006
0007
0008
0009
0010
0011
0012
0013
0014
0015
0016
0017
0018
0019
0020

BEFORE PRCDR2

ARGO1 ==1.

ARGO2 =2

AFTER PRCDR2

ARGO1 =1.
ARGO2 =2.
ARGO3 =5.

BEFORE PRCDR2

ARGO1 =1.
ARGO2 =2.

ARGO3 =5
AFTER PRCDR2
ARGO1 =1

0000000000

.00060000000
ARGO3 ==5.

00000000600

0000000000
0000000000
9999999998

0000000000
0000000000

.9999999998

.0000000000
ARGO2 =2.
ARGO3 =6.

0000000000
9999999999

$2000000000000001
:2000000000000002
:2400000000000003

:2000000000000001
:2000000000000002
:13000000000000003

:2000000000000001
:2000000000000002
:3000000000000003

:2000000000000001
:2000000000000002
13400000000000003

DATA MAX, ICOUNT, IC/100, 0,5/
DIMENSION I CHK(5)

WRITE(6,10)

10 FORMAT (1 HO,

ICHK
515)

I COUNT=ICOUNT+1

I=1COUNT
I CHK(I)=I

WRITE(6,11)
11 FORMAT (1 HO,
IF (1 COUNT-MAX)

1 WRITE(6,12)

12 FORMAT(1HO,

MMAX=5 0

3 IC=IC+11
WRITE(6,11)
ICHK (IC) =1 7
WRITE (6,11)

IF (I C—MMAX)

4 STOP
END

I CHK(I)
15)

215)

IC

ICHK({I C)
3,4,4

—100—

2,1,1
I COUNT, MAX



7Yz b XEY -2y 7 (OPTIONMAPTCHIi&ah 3)
NAME OWORDS NAME TP ADDRESS WORDS NAME TP ADDRESSWORDS NAME TP ADDRESS WORDS

NON COMMON ARRAYS: ICHK I 0000250 000005 1COUNT I 0000330 000001 1C I 0000340 000001
VARIABLES: MAX I 0000320 000001 MMAX £ 0000360 000001
I I 0000350 000001

A7 2 b YA

45 CLST 06000150 0000507 00
COMNT DIMENSION VECTOR

45 00 0000230 ADCON 00 00 00 0000250

15 00 0000234 CONST 00000005

15 00 0000240 CONST 07777770

15 00 0000244 CONST 00000010

COMNT DATA STATEMENT
15 00 0000320 CONST 0000000000000144 -------- MAX
15 00 0000330 CONST 00000000000600000 ------ I COUNT
15 00 0000340 CONST 0000000000000005 «+---- IC
COMNT FORMAT STATEMENT

15 00 0000370 CONST 1000001400010015000531000501
15 00 0000406 CONST 1000001400010031000501
15 00 0000421 CONST 1000001400010015000231000501
COMNT CONSTANT DATA
15 00 0000440 CONST 0000000000000006
15 00 0000450 CONST 0000000000000001
15 00 0000460 CONST 0000000000000062
15 00 0000470 CONST 0000000000000013
15 00 0000590 CONST 0000000000000021
04 00 0000117 ADCON 00 00 00 0000510
COMNT 00002 WRITE STATEMENT

HERE 0 0 0 0 0

1
1 0 0 0 o0 ##%140F WRITE-ILLEGAL FILE REFERENCE
2 NUMBER 17

1 2 0 0 o0 ERROR DETECTED IN NFSBISQWTF
5 00036244
1 2 3 0 0 CALLED FROM MAINPG

. 0017 00004504
L2 s 4 o #%%%%MRMOO1 UEP 0007712 DEPENDENT
5

1 2 3 4 5

6

6 6

6

oy

—101—
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TUT T LB EEAL
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(2w —7) lavel Common
dummy argument x4 v
dimension vector R
array
variable
namelist NFSANCHOR
fornat object
constant B %
statement function blank Conmon -

procedure

(vi)

DIMENSION C(5), J(5)

DATA A, B, X,Y/0,0, 1.0,2.0,0.0/
C{1=B/A

C{2)=5.0/(1.0—1.0)
C(3)=B/(3.0—3.0) +FUNC (X)
C{4)=FUNC (X) /A+FUNC (Y)
C(5)=FUNC (X) / (X+Y %X %Y —X)
WRITE (6,LIST) C

STOP

END

FUNCTION FUNC(X)
FUNC=X *®%2

END

.0 .0 4.000000000 .0

—102—

4.000000000





